Scanned by CamScanner



Scanned by CamScanner




X

: i
: )

! H ( .

QP Code : 77097

143 3 |
3 /X;@}Tlé):(;r;iy ttl;rce of the following : /.{\.i;)
: n the determ; : 4 v
( a : ddumuuumn of surface ar i :
i equation. irface area of an adsorbent on the basis of BET 5
b |
B)'| What are the character:cs: :
(B) '; © characteristic features of |
| atures of a catalyst ? ALY ;
C) | Give an account of igi 24
( | 1t of the origin of charge on colloidal particles. ' 2

(D):% Define adsorbent. The '

‘amonolayer on 1o ‘1.]]% ‘Vohm“e of gas adsorbed at S.T.P. and required to form 5
- gel, if area occy -Efl ica gel is 0.130dm’. Calculate the surface area of silica
| 'Pred by each gas molecule is 16.0 * 102 m?.

1 5 5
(B) A Write a note on electrophoresis.
(F) What are surfactants ? How are they classified ') 5
52 (A)‘ - State true of false :- . 4

(a) Unit of dipole moment is Debye.

| (b) Dipole moment helps in elucidating molecular structure of compounds.
~ (c) Inbending vibrations the bond angle changes.

11 (d) Higher the value of force constant, greater is the bond strength.

; OR
(A) Match the following :- i
i (p) Polar molecule (i) angular structure
(@) SO, (ii) (3n-5)
(r) IL.inear molecule (iii) HCI
(s) Rocking (iv) In-plane vibration
i ) (30-6)
(B) 'State true of false :- S

i 1(a) [n a galvanic cell, oxidation takes place at left hand electrode.
.(b) Foran ideal solution y =1
Ni(c) Thesalt used in salt bridge is KCI
Wi (d) HCl is a uni-bivalent electrolyte.
g OR (TURN OVER
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Match the following .- ,pr.\’
(p) Uni-trivalent ¢ Sy
lectrolvte b
@) Pt/Sn» g, tj Sctrolyte (‘1') Redox electrode
(r) Reduction (”) &~ L iy
(s) Salt bridge (L‘ll) agar-agar v
(iv) gain of electrons ‘
| (v) gas electrode
41 State true or false - 4
(@) Reverse osmosic i« ven |
i (a) . NOosis IS used to concentrate fruit juices.
(b)) Osmosis occures i plant cells
‘ () I(? sulphur system at the triple points F = 0.
gll(d) ondensed phase rule IS written as F = C - P + 2.
(C);‘; ]Matc the 1ollowmg b 4
: *1 (p) ]Smodgl curye (1) Lead-siiver system
‘ xl q) r,ulCCth point (ii) Water purification
xl (r) l_{everse 0Smosis (iii) lowering of vapour pressure
(s) Raoult's law (iv) Ternary system
el WK,
(D)f;;EState true or false :- 3
.:’_;‘!,(a) Catalyst poisons supress the activity of the catalyst.
,ﬁil"li(b) Hydrolysis of methyl acetate is an example of acid-catalysis.
il (¢) The migration of dispersion medium is called electrophoresis.
.| '
i OR
(D) Choose the correct answer :- 8 3
'(p) A catalyst . the energy of activation of the reaction.
‘ (increases , lowers , maintains )

' (@) Lyophebic sols are :

| (scivent hating , solvent loving , none )
(1) are called negative catalyst .
il (Inhibitors , promotors , none )
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